

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CM521 2-Pack		_
CPL 1	1	CE8CP17	17" Mesh Jumper	\$ 120.00	\$120.00
2	1	CE8FR1	Skipped Option 72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
3	1	CE8RD1	Skipped Option Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$33.00
4	1	CE8RD2	Skipped Option Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$33.00
5	1	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$33.00
6	1	CE8RDB	Skipped Option Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$33.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
7	3	CHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$66.00
8	2	CHP42-3	STD Standard Paint Finishes Skipped Option Skipped Option 42"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$202.00
9	4	CMET42	STD Standard Paint Finishes Skipped Option Skipped Option 42"h, End of Run Trim Insert for Panel	\$ 21.00	\$84.00
10	3	CMFM4224N0	STD Standard Paint Finishes Skipped Option Skipped Option 42"h x 24"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 365.00	\$1,095.00
			STD Standard Paint Colors Skipped Option Skipped Option Skipped Option Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
11	1	CMFM4224P1	42"h x 24"w, Monolithic Fabric Panel, Power Harness, Raceway Cover No Punch, Raceway Cover with Punch	\$ 519.00	\$519.00
			STD Standard Paint Colors Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
12	1	CMFM4248P2	42"h x 48"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 764.00	\$764.00
			STD Standard Paint Colors		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
13	1	CMPSEG1248	12"h x 48"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 339.00	\$339.00
			STD Standard Paint Finishes		
			Skipped Option		
			Skipped Option		
			Skipped Option		
14	2	CS1919BBF	19" d, B/B/F Pedestal, Worksurface Supporting	\$ 549.00	\$1,098.00
			Skipped Option		
			Skipped Option		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
15	2	CWS2448P		4"d, Rectangular Worksurface with 3mm PVC Edge Thick, Std with 2 Scoops	\$ 258.00	\$516.00
			LP	Thermally Fused Laminates 1" Thickness		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		

ALIAS SUBTOTAL: \$ 5,282.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
CPL			Global CM521 4-Pack		
16	2	CE8CP17	17" Mesh Jumper	\$ 120.00	\$240.00
			Skipped Option		
17	1	CE8FR1	72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
			Skipped Option		
18	2	CE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$66.00
			Skipped Option		
19	2	CE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$66.00
			Skipped Option		
20	2	CE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$66.00
			Skipped Option		
21	2	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$66.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
22	6	CHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$132.00
23	2	CHP42-3	STD Standard Paint Finishes Skipped Option Skipped Option 42"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$202.00
24	1	CHP42-4	STD Standard Paint Finishes Skipped Option Skipped Option 42"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 82.00	\$82.00
25	6	CMET42	STD Standard Paint Finishes Skipped Option Skipped Option 42"h, End of Run Trim Insert for Panel	\$ 21.00	\$126.00
26	5	CMFM4224N0	STD Standard Paint Finishes Skipped Option Skipped Option 42"h x 24"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 365.00	\$1,825.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
			•••	Skipped Option		
27	1	CMFM4224P1		"w, Monolithic Fabric Panel, Power Harness, Cover No Punch, Raceway Cover with Punch	\$ 519.00	\$519.00
			STD 	Standard Paint Colors Skipped Option		
				Skipped Option		
			•••	Skipped Option		
				Skipped Option		
28	2	CMFM4248P2		"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 764.00	\$1,528.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
			•••	Skipped Option		
29	2	CMPSEG1248		"w, Integrated Privacy Panel, Glass, Top Rail Sits npile Top Trim	\$ 339.00	\$678.00
			STD 	Standard Paint Finishes Skipped Option		
				Skipped Option		
				Skipped Option		



QTY.	PRODUCT CODE		LIST	EXTENDED
4	CS1919BBF	19" d, B/B/F Pedestal, Worksurface Supporting	\$ 549.00	\$2,196.00
		Skipped Ontion		
		Зкіррец Орцоп		
4	CWS2448P	48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 258.00	\$1,032.00
		LP Thermally Fused Laminates 1" Thickness		
		Skipped Option		
		Skipped Option		
		Skipped Option		
	4	4 CS1919BBF	4 CS1919BBF 19" d, B/B/F Pedestal, Worksurface Supporting Skipped Option Skipped Option Skipped Option 48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops LP Thermally Fused Laminates 1" Thickness Skipped Option Skipped Option Skipped Option Skipped Option Skipped Option	4 CS1919BBF 19" d, B/B/F Pedestal, Worksurface Supporting \$ 549.00 Skipped Option Skipped Option Skipped Option 4 CWS2448P 48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops LP Thermally Fused Laminates 1" Thickness Skipped Option Skipped Option Skipped Option Skipped Option Skipped Option

ALIAS SUBTOTAL: \$ 9,171.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
CPL			Global CM521 6-Pack		
32	3	CE8CP17	17" Mesh Jumper	\$ 120.00	\$360.00
			Skipped Option		
33	1	CE8FR1	72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
			Skipped Option		
34	3	CE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$99.00
			Skipped Option		
35	3	CE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$99.00
			Skipped Option		
36	3	CE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$99.00
			Skipped Option		
37	3	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$99.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
38	9	CHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$198.00
39	2	CHP42-3	STD Standard Paint Finishes Skipped Option Skipped Option 42"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$202.00
40	2	CHP42-4	STD Standard Paint Finishes Skipped Option Skipped Option 42"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 82.00	\$164.00
41	8	CMET42	STD Standard Paint Finishes Skipped Option Skipped Option 42"h, End of Run Trim Insert for Panel	\$ 21.00	\$168.00
42	7	CMFM4224N0	STD Standard Paint Finishes Skipped Option Skipped Option 42"h x 24"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 365.00	\$2,555.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Colors		
			•••	Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
43	1	CMFM4224P1		'w, Monolithic Fabric Panel, Power Harness, Cover No Punch, Raceway Cover with Punch	\$ 519.00	\$519.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
44	3	CMFM4248P2		w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 764.00	\$2,292.00
			STD	Standard Paint Colors		
				Skipped Option		
			•••	Skipped Option		
			•••	Skipped Option		
				Skipped Option		
<i>4</i> 5	3	CMPSEG1248		'w, Integrated Privacy Panel, Glass, Top Rail Sits apile Top Trim	\$ 339.00	\$1,017.00
			STD	Standard Paint Finishes		
				Skipped Option		
			•••	Skipped Option		
			•••	Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
46	6	CS1919BBF	19" d, B/B/F Pedestal, Worksurface Supporting	\$ 549.00	\$3,294.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
47	6	CWS2448P	48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 258.00	\$1,548.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		

ALIAS SUBTOTAL: \$ 13,060.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
CPL			Global CM521 8-Pack		
48	4	CE8CP17	17" Mesh Jumper	\$ 120.00	\$480.00
			Skipped Option		
49	1	CE8FR1	72" Long, Reversible Floor Power Entry	\$ 347.00	\$347.00
			Skipped Option		
50	4	CE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$132.00
			Skipped Option		
51	4	CE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$132.00
			Skinned Ontion		
52	4	CE8RDA	Skipped Option Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$132.00
			Skipped Option		
53	4	CE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$132.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Skipped Option		
54	12	CHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$264.00
55	2	CHP42-3	STD Standard Paint Finishes Skipped Option Skipped Option 42"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$202.00
56	3	CHP42-4	STD Standard Paint Finishes Skipped Option Skipped Option 42"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 82.00	\$246.00
57	10	CMET42	STD Standard Paint Finishes Skipped Option Skipped Option 42"h, End of Run Trim Insert for Panel	\$ 21.00	\$210.00
58	9	CMFM4224N0	STD Standard Paint Finishes Skipped Option Skipped Option 42"h x 24"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 365.00	\$3,285.00



ITEM	QTY.	PRODUCT CODE			LIST	EXTENDED
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
59	1	CMFM4224P1		"w, Monolithic Fabric Panel, Power Harness, Cover No Punch, Raceway Cover with Punch	\$ 519.00	\$519.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option Skipped Option		
				Skipped Option		
				опрред орион		
60	4	CMFM4248P2		"w, Monolithic Fabric Panel, Power Harness, Cover With Punch (2)	\$ 764.00	\$3,056.00
			STD	Standard Paint Colors		
				Skipped Option		
				Skipped Option		
				Skipped Option		
				Skipped Option		
61	4	CMPSEG1248		"w, Integrated Privacy Panel, Glass, Top Rail Sits npile Top Trim	\$ 339.00	\$1,356.00
			STD	Standard Paint Finishes Skipped Option		
				Skipped Option		
				Skipped Option		
			•	11 - 1		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
62	8	CS1919BBF	19" d, B/B/F Pedestal, Worksurface Supporting	\$ 549.00	\$4,392.00
			Skipped Option		
			Skipped Option		
			Skipped Option		
63	8	CWS2448P	48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 258.00	\$2,064.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			ALIAS SUBTOTAL: \$ 16,949.00		

TOTAL EXTENDED LIST:

\$44,462.00